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SECOND SEMESTER
CP 922 - WIRELESS NETWORKS
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Time: Three Hours /% Maximum: 100 marks

ANSWER ALL QUESTIONS
PART-A (10x2=20 marks)

1. Why can't cellular service pmvideré incorporate existing
IEEE 802.11 LANS into their networks?
N o

2.  What are the major challenges in implementing WATM
for mobile environment?

3.  What is called processing gain jn CDMA systems? State
its sighificance. ~

4. Find'the'code word transmitted in 1S-95 (CDMA system for
the given data stréam (101010).

5. Distinguisﬁ between wireless sensor networks and mobile
Adhoc networks.

6. What is the principle behind AODV protocol?

7. What are the two main integration models for WCAN with
3G cellular networks?

8. Which mode of terminal is best suited for tight coupling?
Why?

9. Mention the important features of 4G system?
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12.

broadband technologies?
(a)WiFi (802.11g) (b)WiMAX (802.16d) (0)3G

PART-B (5x16=80 marks)

(@ () What are the families of IEEE 802.11 (8
wireless LAN? Mentien their important
features. k

(i) How is CSMA/CA protocol implemented in (8
WLAN with back off algorithm? Explain
with circuit diagram,

Or

(b) (i) Compare and contrast WiFi - WiMAX -3G (8,
“ optical fiber deployment scenario.

(ii) *. Briefly explain IEEE 802.11 wireless LAN (8
MAC management sub layer.

(@) What are fhe new interfaces defined in UMTS (1
network? Explain the access technology for 3G
UMTS network.

Or
(b) With schematic explain the CDMA 2000 (1¢

reference architecture and the mobility
management process.
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(a) Write a note on recent developments and
deployment challenges in wireless sensor
networks in cluster formation.
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Compare the performance of different
routing algorithms jn adhoc network.

Briefly explain the concept of Temporally
Ordered Routing -Algorithm (TORA) in
mobile adhoc network.

Explain: the system description  for
networking . architecture for. WLAN and
GPRS.

How is Local Multipoint Distribution
Service' (LMDS) achieved for Digital
television transmissior: applications,

Or

There are many technological challenges

*t0 be solvéd to integrate the heterogeneous

architecture.” Point out some of the
problems that will arise due to integration.

How does inter system handover oceur in a
tight coupling integration.

Write a note on advanced Broadband wireless
access techniques and services in 4G and
beyond.
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(b) Explain the architecture and  protocol
specifications of Internet Protocol Multimedia
subaystem for home subscriber sexvers.
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